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Q)

. Which period of British Colonialism in India is
considered as evident example of economic robbery
in the form of trade monopoly?

State of industrial

colonialis

d) None of these

State of commercial b)
colonialism

State of financial
colonialism

. Who was the Nawab of Bengal at the time of Battle
of Buxar ?

Mir Qasim b) Mir Madan
Mir Jafar d) Siraj-ud-daula
. Subjugator of the revolt of 1857 in Allahabad was -
Campbell b) Huroz
Renard d) Col. Neil

4. Sewa Sadan' in Mumbai was founded by:

a)
Q)

a)

9]

a)

Q)

10.

a)

Q)

b) M.G. Ranade
d) Atmaram Pandurang

Bahramji Malabari
Keshav Chandra Sen

. Which one of the following was composed by Jain

Guru '‘Bhadrabahu’ ?
Pravachan Saar b) Kalpasutra

Dravya Sangrah d) Nyaya Dipika

. Which of the following inscriptions gives
information regarding ‘Bhagwat Dharma'?

Garuda Inscription of b)
Besnagar

Mehrauli Pillar
Inscription

Prayag Prashasti

d) Nasik Inscription

Matangeshwar Temple' constructed in Nagar Style
and dedicated to lord Shiva is situated at:

b) Jhansi
d) Khajurah

Ballia
Lalitpur

. Montague has termed which of the following
incidents as 'Preventive Killing'?

Chauri Chaura Incident  b) Jallianwala Bagh

Massacre

Hanging of Bhagat Singh d) Dharsana Lathi Charge

. Who was the last governor of Bengal appointed by
Mughal Emperor ?

b) Murshid Quli Khan
d) None of these

Sarfaraj Khan
Alivardi Khan

Which of the following Indian states determine the
boundaries with Bhutan? 1. Sikkim 2. West Bengal
3. Arunachal Pradesh 4. Assam

1,3and 4 b) 2,3and4
1,2and 3 d) None of the above/More

11.

13.

a)
Q

14.

17.

a)
0

than one

Which of the following pairs is/are correctly
matched ?

(Institution) (Headquarters)

1- Central Groundwater - Faridabad Board

2 - Central Water - New Delhi Commission

3 - National Institute of - Roorkee Hydrology

1and 2 b) 2and3

1,2and 3 d) None of these

. Which one of the following hills is situated at the

borders of Kerala and Tamilnadu?
Cardamom Hills b) Shevaroy Hills

Annamalai Hills d) Mahendragiri Hills
Which of the following Indian states is situated in
the north of Tropic of Cancer?

Maharashtra b) Odisha
Chhatisgarh d) Meghalaya

Consider the following:

1- Dev Prayag - At the junction of Bhagirathi and
Alaknanda rivers

2- Badrinath - Madakini river

3- Kedarnath - Alaknanda river

Which of the above pairs is/are not correctly
matched?

1Tand 3 b) 1and?2
2and 3 d) Only3

. The type of Soil Erosion, in which small and deep

drains are formed in the soil, is called :
Splash Erosion b) Sheet Erosio

Rill Erosion d) None of these

. As per view of surface area, the correct order of

three biggest lakes of the world is:

Caspian Sea, Superior, b) Superior, Victoria,

Victoria Caspain Sea
Caspian Sea, Victoria, d) Victoria, Superior,
Superior Caspian Sea

Match List-1 with List-1l and choose the correct
answer with the help of given codes:

List-1 List-ll

( Newspaper) (Editor)

A) Digdarshan 1. Ishwar Chadra Vidyasagar

B) Som Prakash 2. Marshman

C) Hindu Patriot 3. Annei Besant

D) Commonweal 4. Harish Chandra Mukherjee

a-3, b-1,c-4,d-2 b) a-1,b-2,c-3,d-4
a-2, b-1,c-4,d-3 d) a-4, b-3, c-2, d-1
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18.

a)
Q)

19.

The only governor general, whose mausoleum is
situated in India, is :

b) Lord Curzon
d) Lord Wellesley

Warren Hastings
Lord Cornwallis

Which of the following pairs is not correctly
matched?
(States grabbed by (Year) Dalhousie

a) Satara - 1848 AD b) Sambhalpur - 1850 AD
¢) Jhansi - 1853 AD d) Nagpur - 1854 AD
20. Who among the following was not the founder
member of Bombay Presidency Association?
a) K.T.Telang b) Badruddin Tyabji
c¢) Firozshah Mehta d) M.G. Ranade

21.

a)

Q)

22.

a)

Q)

23.

a)
Q)

24.

a)

9]

25.

a)

Q)

26.

a)

9]

217.

In which of the following sessions Dadabhai Naroji
had demanded "Swaraj' for the first time?

Calcutta Congress b) Madras Session, 1887
Session, 1906 AD AD
Bombay Session, 1889 d) Varanasi Session, 1905
AD AD

Which one of the following is not the part of three
dimensional poverty reduction strategy adopted by
Govt. of India ?

Growth based strategy b) Poverty reduction

programme strategy

Strategy to provide d)
minimum basic facilities

Watershed management
strategy

Which of the following statemets is/are correct?
1- According to Census-2011 womens work
participation rate is more than men.
2- Womens work participation rate is 25.6%. Code:
Only 1 b) Only 2

1 and 2 Both d) Neither 1 nor 2

CAPART' Independent Body of Department of Rural
Development was established by Govt. of India in
the year:

1983 b)
1986 d)

1984
1989

The rate, at which Central Bank does Rediscounting

on the First Class Bills of Banks, is called :
Repo Rate b) Reverse Repo Rate

Prime Lending Rate d) Bank Rate

Alagh Committee’ is related with :
Unemployment
MSME

b) Poverty
d) Banking

Consider the following equation :

Q

29.

Q

30.

a)

31.

Q

32.

a)
Q

33.

a)

Q

34.

a)

Q

35.

a)

0

GNP =GDP + X-M

Where GNP = Gross National Product

GDP = Gross Domestic Product

X = Income earned by the countrymen in foreign
M = Income earned by foreigners in the country
On the basis of above what will be true regarding a
closed economy ?

X>M b) M>X
GDP < GNP d X=M

. In India, which of the following method is generally

not used in the calculation of National Income ?

Origin Calculation b) Income Calculation

Method Method
Expenditure Calcultation d) None of these
Method

In India, to attain the state of population stability
the fertility rate should be :

24 b) 34
2.1 d 28

In India, the statistics of Consumer Price Index
based inflation are released every year by whom?

NITI Ayog

Ministry of Commerce d)
and Industries

b) Finance Commission

Ministry of Statistics and
Programme
Implementation

National Rural Development Institute is situated at :
Shimla b) Hyderabad
New Delhi d) Pune

Which of the following organs is affected by the
excess of Flouride lon?

Teeth
Kidney

b) Eyes
d) Small Intestine

Which of the following is/are emitted from the coal
combustion in power projects?

b) Oxides of Nitrogen
d) All of the above

Oxides of Sulphur

Carbondioxide

Which of the following continents/countries is/are
the part of ancient Gondwanaland ? 1. New Zealand
2. South America 3. Greenland 4. Australia 5. Indian
subcontinent Code :
1,2,3and 4

1,2,4and 5

b) 2,3and4
d) All of the above

Which one of the following planets is smallest in
reducing order of the size?

Jupiter
Earth

b) Neptune
d) Saturn
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36.

a)

9]

42.

a)

9]

43.

a)

Q)

Which of the following statements regarding 'Quit
India Movement' is/are correct?

1- During this movement parallel governments
were formed in Satara and Ballia.

2 - This movement was started from the Firozshah
Kotla Ground of Delhi.

Code:
Only 1 b) Only2
1 and 2 Both d) Neither 1 nor 2

. Movement fought under the leadership of

Digambar and Vishnu Vishwas was:
Neil Rebellion
d) Rangpur Revolt

Deccan Revolt b)
Santhal Rebellion

. Which of the following pairs is/are correctly

matched ?

(Grasslands) (Location)

1-Selvas - Amazon Valley

2- Lanos - Argentina and Uruguay
3- Pampas - Venezuela Code :

Only 1 b) Only2
Tand 3 d) 2and3
. hich of the following is/are known as the Tiger

Sanctuary in India ? 1. Ranthambhore 2. Bandipur 3.
Kaziranga 4. Bandhavgarh Code :

1,2,3and 4 b) 1,2and4
1and 2 d) All of the above

. Which of the following is/are the methods of

Bioremediation?
Phytoremediation b) Japper

Phyto extraction d) All of the above

. Which of the following pairs of revolt places of

1857 and leaders is/are correctly matched ?
(Revolt Place) (Leader)

1- Lucknow - Begum Hazarat Mahal

2- Assam - Maniram Dutta

3- Bareilly - Liagat Ali
1and 2

1Tand 3

b) 2and3
d) All of the above

Details of Battle of Kalinga (261 BC) is found from

which inscription of Ashoka?
Thirteenth Inscription b) Eighth Inscription

First Inscription d) Gurjara Inscription

Which of the following pairs is not correctly
matched ?

(Rivers) (Origin Place)

b) Blue Nile - Victoria Lake
d) Yangtze - Plateau of

Danube - Black Forest

Mississippi - Itasca Lake

44,

Q

45.

a)

Q

46.

a)

47.

a)

48.

a)

49.

a)

Q

50.

a)

Q

51.

Tibet

Which one of the following seas is situated in the
east most?

Black Sea
d) Caspian Sea

Mediterranean Sea b)
Aral Sea

Which one of the following organizations prepares
Global Financial Stability Report?

International Monetary ~ b) UNCTAD
Fund
World Trade d) None of these

Organisation

Olympic Dam' mine situated in South Australia is
famous for the production of:

Gold

Uranium d)

b) Copper
Diamond

Consider the following: 1. Rukwa Lake 2. Bristol 3.
Lancashire 4. Red Basin
Which of the above is/are the main coal producing
regions?

1,3and 4 b) 2,3and4

1,2 and 3 d) All of the above

Choose the incorrect statements from the following
statements :

1 - In Indian Constitution Council of Ministers is
integral part of the parliament.

2- Members of councils of ministers are collectively
responsible Lok Sabha and Rajya Sabha both. Code :

Only 1 b) Only 2
1 and 2 Both d) Neither 1 nor 2

Consider the following statements :

1-Governor has rights to pardon the offences
against the law on the matters related to Central
List.

2- Governor has no rights to pardon 'Death
Sentence'.

Which of the above statements is/are correct?

Only 1 b) Only 2
1 and 2 Both d) Neither 1 nor 2

Bicameral System is not in which one of the
following ?

America b) India

China d) Britain

Which of the following ways in Parliamentary
System of government, by which legislative controls
executive? 1. Financial Deductions 2. Adjournment
Motion 3. No Confidence Motion

Code:
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a)

)

(g}

52.

a)

53.

a)

54.

a)

Q)

55.

a)

Q)

56.

a)

9]

57.

1,3 and 4 b) 2,3and4
1,2and 3 d) All of the above

Which of the following statements is/are correct ?
1- To be elected in Rajya Sabha and Lok Sabha, any
citizen should be of minimum 25 years age.

2- To be elected as the member of any house of the
parliament a person should be the citizen of India.
Code:

Only 1 b) Only2
1 and 2 Both d) Neither 1 nor 2

Under the provision described in Indian
Constitution, any person will be ineligible for the
membership of parliament, if he :

Is declared Mentally Sick b) Has voluntarily gained
by the competent the citizenship of any
jurisdiction. foreign country.

Is working on the post of d) All of the above.
profit under Govt. of

India or State

Government.

If during meeting in any house of the parliament

"Quorum'’ is not complete then the house is
adjourned or suspended, Quorum' means :

1/10 of total members of b) 2/3 of total members of
the house. the house.

1/3 of total members of
the house

d) 2/3 of members present
and voting

Which one of the following statements regarding
Loksabha Speaker is incorrect?

He presides the joint b) He certifies that any bill
meetings of Loksabha is money bill or not
and Rajyasabha.

In the case of equal d) All the statements are
votes in the Loksabha he correct.

votes

Find out the correct statements from the following:

1-Prior permission of the President is necessary for
all financial bills.

2- Money bills can only be initiated in Loksabha.
3-Regarding Money Bills Loksabha is binding to
accept recommendations made by Rajya Sabha.
Code :

1and 3 b) 1and?2
2and 3 d) All of the above

Which of the following statements regarding State
legislative council is/are correct ?

1- In State Legislative Council, number of members
are equal to 1/3 no. of members of lesgislative
assembly.

Q

58.

Q

59.

Q

60.

Q

61.

Q

62.

a)

0

63.

2- No. of members in State Legislative Council can
not be less than 60.

3- To be the member of Legislative Council any
person should not be less than 25 years of age.

2and 3 b) 1and3
1Tand?2 d) Only 1

Consider the following statements :

1-Amendment Procedure is mentioned in article
368 of the constitution.

2- Constitutional Amendment Bill can be initiated in
any house of the parliament.

Choose the correct statements :

Only 1 b) Only 2
1 and 2 Both d) Neither 1 nor 2

By which one of following constitutional
amendment, this provision was added that
President is bound to accept the advice of council of
ministers ?

44th Constitutional b) 42nd Constitutional
Amendment Amendment
78th Constitutional d) 52nd Constitutional
Amendment Amendment

Which one of the following eligibilites is not
necessary for the candidate of President post?

He is the citizen of India  b) Attained the min. age of

35 years.
He has elegibilities of

being elected as the
member of Loksabha.

d) He has elegibilities of
being elected as the
member of Rajya Sabha.

Which of the following appointmened has/have
been done by the Governor ?1. Advocate General of
the State 2. Chairman of State Public Service
Commiission 3. Judges of subordinate courts

1and 3 b) 1and?2
1,2 and 3 d) None of these

Which one of the following is the Legislative Powers
of the Governor ?

Calling, dissolution or
prorogation of session of
State Legislative
Assembly.

b) Appointment of an
Anglo Indian member for
State Legislative
Assembly

Safeguarding any bill for d) All of the above
the consideration of

President.

The laws passed by Parliament or State Legislature,
on not being according to the constitution,
Supreme Court has the rights of Judicial Review.
This Doctrine of Judicial Review has been taken
from:

Mob. - 7737404085, 8209244090
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a)

)

(g}

64.

65.

66.

Q)

67.

a)

Q)

68.

a)

9]

69.

a)

Constitution of America  b) Constitution of Britain

Constitution of Japan d) Constitution of Russia

Supreme Court is also '‘Court of Records’, this means

Its proceedings and b)
decision will be kept as
all-time records &
evidences.

No question can be
raised on these records
during the cases in any
other court.

Has rights to punishon  d) All of the above

the contempt of court.

Consider the following statements and choose the
correct answer with the help of the codes given
below:

Assertion (A): Fundamental Rights are different
from our other rights.

Reason (R): Constitution of India itself guarantees
and protects Fundamental Rights.

Code:

Both (A) and (R) are b)
correct, (R) is the correct
explanation of (A)

(A) is correct but (R) is d)
incorrect

Both (A) and (R) are
correct but (R) is not the
correct explanation of (A)
(A) is incorrect but (R) is
correct

Deposition of Lava as a result of volcanic action on
the Deccan Plateau region of India was occurred in
which period ?

Jurassic period b) Cretaceous period
Permian period d) Triassic period
The reason of origin of Arc Islands is:

Subduction of Nazca
Plate below the
American Plate.

Subduction of Indo- b)
Australian Plate below
the Eurasian Plate

Subduction of Pacific d) None of these
Plate below the Eurasian

Plate.
Which of the following pairs is not correctly

matched ?
Death Valley - California  b) Taylor Valley - Australia

Panjshir Valley -
Afghanistan

d) Valley of Kings - Egypt

Match List-1 with List-1l and choose the correct
answer with the help of given codes:

List-1 List-ll

(Original Rock) (Metamorphic Rock)

A) Granite 1. Amphibolite

B) Besalt 2. Niece

C) Sand Stone 3. Marble

D) Lime Stone 4. Quartzite

a-3, b-1, c-4, d-2 b) a-4, b-3, c-2, d-1

Q

70.

a)
Q)

71.

a)

Q

72.

a)
Q

73.

77.

a)
Q

78.

a)

Q

79.

a-2, b-1, c-4, d-3 d) a-3,b-4,c-1,d-2

Which one of the following is a Dormant Volcano ?
Kilauea b) Chimborazo

Mount Etna d) Fujiyama

Which one of the following Asian countries is not
having Mediterranean Climate ?
Cyprus b) Turkey

Bahrain d) Lebanon

Which of the following rivers is the longest river of
South Africa and forms the borders of South Africa
and Namibia ?

Niger b)
Jubba

impopo
d) Orange

Black Hill, Blue Hill and Green Hill named hills are

situated at -
United States of America b) Russia

South Africa d) Combodia

. In the decade of 2001-11 sex ratio of which of the

following religion has increased maximum
comparatively?

Christain b) Muslim
Hindu d) Sikh

. In which of the following year, sex ratio of India was

946?
1901 b) 1921
1945 d) 1951

. Which Aluminium salt is generally used to stop

bleeding ?
Aluminium Chloride b) Aluminium Nitrate
Aluminium Sulphate d) Potash Alum

Which of the following is not a insectivorous plant?
Pitcher Plan b) Sundew
Bladderwort d) Mistleto

At room temperature, A11 non metals are either
solid or gas but one non-metal is in liquid state.
Which one is non-metal ?

Bromine b) Sulphur

Phosphorus d) Hydrogen

Consider the following statements and choose the
correct answer with the help of the codes given
below:

Statement (A): Hydrogen is Present essentially in all
acids.

Reason (R): Hydrogen is not found in acitic acid.

Mob. - 7737404085, 8209244090
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a)

Q)

80.

a)

9]

84.

Q

)

(g}

)

85.

a)

9]

Both (A) and (R) are
correct, (R) is the correct
explanation of (A)

(A) is correct but (R) is d)
incorrect

b) Both (A) and (R) are
correct but (R) is not the
correct explanation of (A)

(A) is incorrect but (R) is
correct.

Consider the following statements and choose the
correct answer with the help of the codes given
below:
Statement (A): Prices and Currency Income on being
double in the same period, the original income
remains unchanged.
Reason (R): Increased prices will counter balance
the increased currency income. Code:
Both (A) and (R) are b) Both (A) and (R) are
correct, (R) is the correct correct but (R) is not the
explanation of (A) correct explanation of (A)

(A) is correct but (R) is d) (A)isincorrect but (R) is
incorrect correct.

. Levy Prices are generally.............. Minimum Support
Price.
Higher than b) Below than
Equal to d) None of these

. Consider the following pairs :

1-European Economic - Brussels Community
2- ASEAN - Phillipines

3- OPEC - Vienna
Which of the above statements is/are correctly
matched?

1and 2 b)

1and 3 d)

Only 2
Only 3

. Consider the following statements regarding

Consumer Price Index (CPI) -

1- CPI-Rural and CPI-Urban is relased by Labour
Bureau.

2-CPI-Rural has been terminated from the year
2011.

Choose the incorrect code-

Only 1 b) Only 2

1 and 2 both d) None of these

Liquidation choice is related with -

Asset restructure
companies

Liquidation choice b)
principle of interest

Startups d) Standards of being
enlisted in stock

exchange.

Reserve Tranche Position' is generally related with:

Reserve Bank of India b) Federal Reserve Bank of
America
World Bank d) IMF

86.

a)
Q

87.

a)

88.

Q

89.

92.

a)

Q

93.

a)

Q

94.

a)

Bank Rate is related with :

Short-term Borrowings b) Long-term Borrowings

A Uniform Borrowings d) None of these
Which of the following componemnts of Ecosystem
is a Biotic Component ?

Temperature b) Phosphorus

Protein d) Bacteria
Consider the following statements and choose the
correct answer with the help of the codes given
below :
Statement (A): Mangrove Forests are called nature
protector.
Reason (R): Mangrove forests provide coastal
security by reducing the effectiveness of the
hurricanes.
Code:
Both (A) and (R) are b)
correct, (R) is the correct
explanation of (A).

(A) is correct but (R) is d)
incorrect

Both (A) and (R) are
correct but (R) is not the
correct explanation of (A)
(A) is incorrect but (R) is
correct

Which one of the following is an effect of inclusion
of red, blue and green lights at one place ?

Colour of light becomes  b) Colour of light becomes

Violet Red
Colour of light becomes  d) Colour of light becomes
Green White

. Used for the studying the of structure of crystals :

Micro wave b) Ultraviolet wave

X-rays d) Rays

. All Unicellular Organisms reproduce through:

Sexual Method b) Asexual Method
(a) and (b) both d) None of these

The Blood Circulatory System in humans was
discovered by :

b) Paul Eric

d) Dresser

William Harvey

Edward Jenner

Reversal transcription is a process of:

Formation of RNA from  b) Formation of DNA from

RNA. DNA
Formation of RNA from  d) Formation of DNA from
DNA RNA.

In a lift the apparent weight of a person is less than
the actual weight, when lift is going :

Upwards with b) Downwards with
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Q)

95.

a)
Q)

96.

a)

97.

Q)

98.

929.

a)
Q)

a)

Q)

102.

a)

9]

103.

a)

9]

acceleration acceleration

d) Downwards with uniform
speed

Upwards with uniform
speed

Which of the following enzymes converts starch
into glucose through water decomposition -

b) Anhydrase
d) Amylase

Protease

Invertez

Which one of the following is a Polymer, which is

used in the manufacturing of Bullet Jackets ?
Rayon b) Dacron

Gun Metal d) Kevlar

Which one of the following is the most important
policy for the protection of traditional life of human
along with the biodiversity ?

National Park b) Wildlife Sanctaury

d) Biosphere Reserve
Region

Botanical Garden

The tides in Oceans and Seas are caused by which of
the followings ?

1- Gravitational Force of Sun

2- Gravitational Force of Moon

3-Centrifugal Force of the Earth Code :

Only 1 b) 2and3

1Tand 3 d) 1,2and3

The sea coast formed by the drowning of mountain
ranges parallel to the water is called :

Dalmatian b) Fiord Coast
Ria d) Haifa Coast

. The highest peak of Rocky Mountain Ranges is :

Mount McKinley b) Mount Albert

Mount Rainier d) Mount Logan

. Which of the following pairs is not correctly

matched ?
(Tribes of the World) - (Region)

Boar - South Africa b) Vedda - Malaysia

Pigmi - Kango Basin d) Auca - Ecuador

New Foundland, the famous fish producing region
is under which of the following?

b) Maxico
d) Denmark

Canada
USA

During the Vedic period word ''Prashna Vinashak"
was used for :

b) Detectives

d) Aryans

Judges

Samantas

104.

a)
Q

105.

109.

Q

110.

a)

0

111.

a)

Q

112.

Who among the following is not included in the
Triratna of Bauddhism?

b) Buddha
d) Sangh

Pratityasamutpad

Dhamm

Which of the following systems is/are appropriate
for the collection of urban rain water? 1. Gully Plug
2. Recharge Well 3. Rooftop Recharge Well 4.
Recharge Ditch

37623 b) 38020
44929 d) All of the above

. District famous for "Catechu Industry in Uttar

Pradesh is :
Kanpur b) Meerut
Mathura d) Bareilly

. Which of the following statements is/are correct ?

1- Agartala is the only state capital of India which is
situated only 50 meter far from International
Borders.

2- Borders of Tripura and Bangladesh is called Zero
Line.

Code:
Only 1 b) Only 2
1 and 2 Both d) Neither 1 nor 2

. Which one of the following is also known as

Jawahar Island ?
Pamban Island b)
Coco Island

Butcher Island

d) Sagar Island

Arrange the following in the order of North to
South : 1. Mahadev Hills 2. Malwa Plateau 3. Ajanta
Range 4. Vindhya Range

Code:
2,1,4,3 b) 1,23,4
41,23 d 2,413

Consider the following statements :

1- This pass is situated in Pir Panjal Range.

2 - Nickname of this pass is 'Pile of Dead Bodies'.
3- It links Manali to Leh with roadways.

Above statements are related to which one?

b) Shipki La Pass
d) Burzil Pass

Zojila Pass

Rohtang Pass

What is considered the beginning of prehistoric
period in Bihar?
100000 BC
40000 BC

b) 50000 BC
d) 25000 BC

In the remains of prehistoric times have been found
in Bihar?
l. axes
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a)
Q)

113.

a)

115.

a)
Q)

116.

118.

120.

a)
Q)

121.

a)

9]

122.

I1. Knife and knife

I1l. Pottery
| only b) land Il only
I and Il only d) I Iland Ill only

The earliest evidence of Adivaman's residence in
Bihar is found from which place?

From Champaran and
Muzaffarpur

Gaya and Dehri d)

b) Munger and Nalanda

None of the above

. What era is the earliest evidence of Adivana's

presence in Bihar?
Pre-Stone Age b)
Neolithic period

Middle Stone Age
d) Harappan period

Evidence of Middle Stone Age has been found in
Bihar -

Chirand
Munger

b) Patna
d) Checher

Remains of which period have been obtained from
Chirand (Saran) and Checher (Vaishali) in Bihar?

Pre-Stone Age b) Middle Stone Age

Neolithic period d) Harappan period

. From which site are the remains of the later phase

of the copper-stone period found in Bihar?
Chirand (Saran) b) Checher (Vaishali)

Sonpur and Maner d) All of the above

Aryans arrived in Bihar and Eastern India,-
Rigvedic period
Vedic period d)

b) Mahajanapada period

None of the above

. Was helpful in the expansion of Aryans in Bihar and

Eastern India?
trade expansion b) expansion of agriculture

Empire expansion d) Use of iron

Based on Shruti and legends, during the war of
Mahabharata, there were major states in Bihar

region?

Magadha and Videha

Both (a) and (b) above

b) Limbs and Licchavis
d) None of the above

State Widow Remarriage Promotion Scheme is
going to be launched in which state?

Bihar b) Jharkhand
Madhya Pradesh d) Chhattisgarh

When will the new criminal laws replacing the
colonial-era codes come into force?

a)
Q)

123.

Q

124.

a)
Q

125.

a)

Q

126.

a)

Q

127.

128.

a)

Q

129.

a)

0

130.

a)

1st July b) August 15

2 October d) 26 November

When is the World Wetlands Day observed to raise
awareness about wetlands?

01 February b) 02 February

03 February d) 04 February

With whom has South Eastern Railways joined
hands for the development of rail infrastructure?

Steel Authority of India b) JSW Steel
Jindal Steel and Power d) Tata Steel

Which collaboration has been announced between

Reliance Jio and OnePlus India?

b) To introduce a new
range of budget-friendly
smartphones.

Enhancement of
smartphone security
features for 5G
technology.

Establishing 5G
Innovation Hub.

d) To develop state-of-the-
art artificial intelligence
for mobile devices.

With whom has the Ministry of Defense entered
into an agreement under 'Project Akashteer'?

Bharat Electronics
Limited
DRDO d)

b) Tatagroup

New Space India Limited

Which ministries and organizations are organizing
Kala Utsav 2024?

Ministry of Culture and b)
Sangeet Natak Academy

Ministry of Education
and National Council of
Educational Research
and Training (NCERT)

Ministry of Tourism and
Sahitya Academy

Ministry of Youth Affairs  d)
and Sports and National
School of Drama

When has the International Mine Awareness Day
been observed recently?

2 April
5th April

b) 6 April
d) 4th April

Where has the third Atal Gaurav Samman Ceremony
been organised?

b) New Delhi
d) Kerala

Lucknow
Ahmedabad

How much is the Indian Army investing in
indigenously developing ultra short-range air
defense systems to deal with air threats along the
borders with China and Pakistan?

Rs 4,800 crore b) Rs 5,800 crore
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Q)

131.

134.

136.

138.

Q)

139.

a)

9]

140.

a)

9]

Rs 6,800 crore d) Rs 7,800 crore

Who will replace Ajay Singh as ASSOCHAM
President for 2024-25?

Sanjay Nair b) Anand Sen

Deepak Sood d) Manoj Tiwari

. Who has been named as the winner of the 2024

UNESCO/Guillermo Cano World Press Freedom

Prize?
Ukrainian journalist b) Sudanese journalist

Russian journalist d) Palestinian journalist

. Who was awarded the 2024 Abel Prize by the

Norwegian Academy of Science and Letters?
Peter Scholz b)
Michel Talgrand

Evi Wigderson
d) Laszlo Lovaz

Which country has recently announced visa-free
travel for Indian citizens?

Qatar
Japan

b) Argentina
d) lIran

. Who has been awarded the standard PhD degree?

Dilip Tirkey b)
Pratik Tyagi

Rajwinder Singh
d) none

Who is the publisher of the book 'Modi: Energizing

a Green Future'?
HarperCollins Publishers = b) Penguin Random House

Simon and Schuster d) Pentagon Press

. Which country will host the 2027 World Test

Championship final?
India b)
d) England

Australia

New Zealand

Who becomes the youngest girl in the world to
summit Mt Aconcagua, the highest peak in South

America?
Malavath Poorna b) Premlata Agarwal

Anshu Jamsenpa d) Kaamya Karthikeyan

Where is the 5th edition of military exercise
‘Dharma Guardian' being held?

b) Uttar Pradesh
d) Punjab

Rajasthan
Maharashtra

Who was named as the new Prime Minister of

Tuvalu after the general elections?
Tofiga Wavelu Falani b) Tufoua Panapa

Kausia Natano d) Feletty Teo

141.

Q

142.

Q

143.

Q

144.

a)

145.

a)

146.

a)

147.

a)

0

148.

a)

A and B undertake to do a piece of work for Rs. 600.
A can do it in 10 days and B can do it in 15 days.
With the help of C they finish the work in 4 days.
How much C should be paid for his contribution?

Rs. 180 b) Rs.200

Rs. 300 d) Rs. 240

Ayushi and Aanchal together can do a work in 12
days. Aanchal and Vaishnavi together do it in 15
days. If Ayushi's efficiency is twice that of
Vaishnavi, then the days required for Aanchal alone
to finish the work is -

60 b) 20

15 d) 25

A, B and C can do a piece of work in 20, 30 and 60
days respectively. How many days does it needed to
complete the work if A does the work and he is
assisted by B and C on every third day?

10 b) 14

15 d) 9

5 women can do a piece of work in 6 days while 10
boys can do it in 5 days. In how many days 5 boys
and 3 women do it -

10 b) 5
8 d) 15

P, Q and R are employed to do a job in 15 days for a
total remuneration of Rs.12000. P alone can do the
work in 40 days and Q alone in 60 days. If all of
them work together and complete the work on time
what is R's share of the remuneration?

2550 b) 2250
2000 d) 1500

A and B working together can do a piece of work in
6 days. If A works alone in the beginning for 2 days
and completes 25% of the job, how many days B
will take to complete the rest of the work?

24 days b) 36 days

18 days d) 9days

Work done by (x + 5) men in (x + 5) days is equal to
the work done by (x - 5) men in (x + 20) days. Then
the value of x is -

15 b) 25
30 d) 35

The ratio of the amount of work done by (x - 1)
labours in (x + 1) days and that done by (x + 1)
labours in (x + 2) days is 5: 6. Then the value of x is-

8 b) 12
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o 16 d) 18

149. A and B can complete a work in 12 days and 15 days
respectively. They started the work together. If after
4 days A leaves the job, then in how many days B
will complete remaining work?
a) 6 b) 8
q 7 d) 9

150. 2 men and 1 woman can complete a piece of work
in 14 days, while 4 women and 2 men can do the
same work in 8 days. If a man gets Rs. 90 per day,
what should be the wages per day of a woman?

a) 85 by 60
o 70 d) 75
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